Maths this Week

Maths this week is to try and get you thinking.

In the middle of each card is a problem in its simplest
form and more complicated questions around the
outside.

Once you have completed the simplest question, have
a go at the questions around the outside. When you
are answering the other questions, think about how
the questions have changed and what that has made

you have to do differently.



What if...

...the proportion of adults changes?

CARD 16

It costs £30 for adults to attend the brass 272 people attend a school brass

- . 272 people attend band competition.
band efition and £15 for children.
comp and =13 Tor chl a school brass band There are 223 children and 16 teachers,
The venue takes £675 in ticket sales. o
Ar A compefition. There are 223 the rest are parents.
A minimum of 5 adults and a minimum child d 16 teachers,
of 25 child — ren an Hc:w many parents are there?

What combination of adult and child
tickets could they have sold?

"z of the parents are dads.
How many dads are there?

5 children are accompanied by 1 adult when
entering the brass band competition.
Charlie says, ‘If 100 children attend there will be 15 adults.”
Is he correct?
Explain how you know.

272 people attend a school brass band competition.
There are 223 children and 16 teachers, the rest are parents.

1
"3 of the parents are dads.
How many dads are there?
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No. of Adults Mo. of | Children
tickets £30 tickets £15

£150 35

£525

£180 33 £495

£210 31

£465

£240 29

£435

£270 27 £405

£300 25 £375

Describe the repeating pattern.

272-223 =49
49-16 =33

33 + 3 =11 dads.
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There are 33 parents.
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One possible approach...

1
The number of adults reduces by 3,

There are 33 parents.
There are 33

parents.

272-223 =49
49-16=33

272 - 223 =49
49-16 =33

33 + 3 = 11 dads.

He is not correct.
2 x 5 = 10 therefore
20x 5 =100

20 adults would be needed.




What if...

...the sides of the field vary in length?

CARD 17

Farmer Phil has just bought
a new hard of cows and
neads to erect a fence around

Farmer Phil has just bought a new herd
of cows and needs to erect a fence around
one of his fields for them to live in.

Farmer Phil builds a rectangular pen for
his sheep with 2 pairs of equal sides.

. i*;;:::’;::;;ﬂ”z:f =L SIS IS R e The field has 5 equal sides each measuring 459m.
: : How much fencing does he need to buy?
What lengths could the sides be? FCR Toneing Coas i 1 uy?

The field has 5 equal sides How much fencing will be left over

each measuring 459m.

How much fencing
doas he nead to

buy?

Find all possibilities.

Farmer Phil has just bought a new herd of cows and needs
to erect a fence around one of his fields for them to live in.
The field has 5 equal sides each measuring 459m.
How much fencing will be left over from 3000m?

Farmer Phil has to build a fence that has a perimeter of 450m.
He says this is ten times longer than a 4.5m field gate.
Is he correct?
Explain how you know.

Measures -
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One possible approach...

A rectangular field has sides in length in
the ratio of 3 : 2.

Shorter sides | Longer sides 459 x 5 =2295m

2 x 50m 2 x350m
2 X 100m 2 x 300m
2 x150m 2 x250m

3000m - 2295m = 705m of
fencing will be left over.

459 x5 = 2295m Farmer Phil is wrong.

3000m - 2295m = 705m 450m is 100 times longer than 4.5m
of fencing will be left over. not 10 times longer.
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What if...

...5he had different amount of homework and different
amounts of time to spend on it?

CARD 18

Amelie has English
and Maths homework e;uch week,

it takes her a total of 22 hours fo

Amelie spends 1 hour and 40 minutes
doing her homework.

She has two pieces fo complete. :‘mﬂl:l:::; Engislll B::: complete all of her homework.
It takes a minimum of 20 minutes for each piece. How long is this in minutes?
The time taken to complete each task is a mlf Lt She spends 80 minutes on her
multiple of 20 minutes. of 22 hours to complete English homework.
How long could each piece all of her homework. How much time in hours and minutes
take to complete? How long is this in does she spend doing her Maths
Find different possibilities. minutes? 0 homework.

Amelie has English and Maths

homework each week. It takes Amelie 2 hours and 15 minutes fo
It takes her a total of 27 hours to ~ complete her homework. _
complete all of her homework. Amelie says, rl_‘she starts at 6.20pm she will
She spends 80 minutes on her English homework. be finished before 8:40pm. .
How much fime in hours and minutes does Is she correct? 23 +
she spend doing her Maths homework? Explain how you know. E82
131
db = £
+
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Piece 1

Piece 2

20 mins 1 hour 20 mins
40 mins 1 hour
1 hour 40 mins

1 hour 20 mins

20 mins

She spends 70 mins, which is 1 hour and
10 minutes, on her Maths homework.

150 minutes
1 hour = 60 x 2 =120 minutes
Half an hour = 30 minutes
120 + 30 = 150 minutes in total.
150 mins - 80 mins = 70 mins.

One possible approach...

Amelie has double the amount of
homework and ? hours/minutes to
complete it.

150

1 ho,,:‘:l:l::i 2= Thour=60x2 =120 l:ninu'las
120 minutes. Half an hour = 30 minutes

120 + 30 = 150 minutes in total.
150 mins = 80 mins = 70 mins.
She spends 70 mins, which is
1 hour and 10 minutes, on her

Maths homework.

Half an hour = 30
minutes.
120 + 30 = 150
minutes.

Yes she is correct because 2 hours
and 15 minutes after she started
will be before 8.40pm.

It will be 8.35pm.




What if...

...you choose the number of supporters and proportions?

CARD 19

There ara 75 pupils.
3

There are 75 pupils.
3
5 of the pupils support Manchester United

In a class of 24 pupils, different football

teams are supported. 5 of the pupils support and the remainder support Manchester City.
What equal proportion of pupils could Manchester United and the What fraction of children supports Manchester City?
support a different team? remainder support How many pupils support Manchester City?
How ma ssible numbers of football Manchester City. L .
%pn:s T What fraction qfl::::dm if 10 of the City supporters cnnve.ned to
Find different solutions. supports Manchaster AL g L T
City? How many pupils

. There are 75 pupils. There are 36 children in Jennifer's class.
s of the pupils support Manchester United and the S TR L T ST
remainder support Manchester City. Jennifer says that this is 3 of the class.

1
if w0 of the City supporters converted to United supporters.

1
Frankie says that 8 is less than .
How many city fans would there be?

Who is correct?
Explain how you know.

Fractions
of quantities
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One possible approach...

% of the ? pupils support Manchester United.

24 children

Number of Proportion of .
teams children

1 1
5=75+5=15 5=75+5=1

3

s s = 3 x 15 = 45 United supporters.

n
2
1
B
3
4 - 5 =3x15=45 2 e
- T United supporters. 5 L_ 2x15 _ 30 City supporters.
. - 10 of 30 City supporters = 3.
E 2
i O 5=2x15=30 O . 30-3=27
12 12 City supporters. . 27 City fans would be left.
24 7

%=T5 +5=15
= 3 x 15 = 45 United supporters.
2 x 15 = 30 City supporters.
%ufﬂﬂ(:itysuppurhrs: 3.
30-3=27
27 City fans would be left.

3 Frankie is correct.
5

1
3 of 36is12.

He is correct because 8 is less than 12.
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What if...

...the number of dogs at the show changed?

CARD 20

At the dog show there are

At the dog show half of the dogs are poodies. 10 of the dogs are poodles.

A third of the dogs are sausage dogs. o nf::d‘;?;:w - . How many dogs are not poodles?
- The m;':::ﬁ;:j“ "“'::rm' How many dogs are not 2 of the dogs that are not poodles are
= than 60 in ﬁn AOHEE 1 poodlas? ST ST
How many different numbers of each 2 of the dogs that are not Hm: many sausage dogs are there?
dog could there be? poodies are sausage dogs. O 3 of the dogs left are terriers.
How many sausage . How many dogs are terriers?
dogs are thera?

There are 48 dogs at the dog show.
1
‘3 are sausage dogs.
1
“a are poodles.

At the dog show there are 46 dogs in total.
10 of the dogs are poodles.

1
2 of the dﬂﬂf that are not poodies are sausage dogs. The presenter says that poodles are more popular than
7 of the dogs left are terriers. sausage dogs.
How many dogs are terriers? Is he correct?
Explain how you know.
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At the dog show there are 46 dogs in total.
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One possible approach...

The total number of dogs more than

doubles and % of them are poodles, etc.

e : . 46 -
The key to unlocking thiz problem iz reasoning
about halves and thirds and therefore the total =
number :-f dogs must be a multiple of 3 and 2 (even). LD 46-10=36
Noot |, , _ Labs 36 dogs are 36 dogs are not poodles.
= half | § =third | what's
dogs fef not poodles. A half of 36 = 18.
12 (] 4 2
= = = - Half of 36 = 18. There are 18 sausage dogs.
24 12 8 4 A third of 18 = 6.
30 - L - There are 18 O O 6 dogs are terriers.

sausage dogs.

What patterns can be tesn?
Can these be uzed to predict all possibilities?

46-10=36

36 dogs are not poodles.

He is not correct because % is smaller than %
e.g.
% of12=3
% of12=4

A half of 36 =18.

There are 18 sausage dogs.

A third of 18 = 6 are terriers.
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